«Peau d'amey Shawl

A veil of sweetness !

Materials — * Circular needles US size 2 V2
*2 Skeins (200m each one ( 218 yards each one) of pink cashmere and silk from Isatinctoria shop
(on alittlemarket website) You need approx, a total of 436 yds of yarns.

*2 stiches markers

Abbreviations— k — knit
SM — slip marker

PM- place marker

s — stich
p — purl
R— Row

yO- yarn over
k2tog . knit 2 stiches together
s . stich
M : marker

*Cast on 5 stiches

*Row1— kl1-yo-kl-yo-PM-k1-PM-yo-kl-yo-kl

*Row 2 and all even rows— p1-yo- purl all stiches -yo-p1

*Row 3 — k1-yo-knit all stiches-yo-SM-k1-SM-yo-knit all stiches-yo-k1
*Repeat rows 2 et 3 until the end of the first skein (200m of yarn or 218 yds of yarn)

You must have a number of odd stiches on your needles, on each side of your stiches markers (ex : 137s-M-1m-
M-137s)



Lace .

Rg A . (Right Side) : k1 *yo- kZtog * repeat from * to * until the first stich marker yo ,SM-k1-SM-yo *

k2tog-yo* repeat from * to * until 1 m de la fin du rang et terminer par 1 m end
Rg B : (Wrong Side) : repeat like all even rows of the beginning
Repeat 1 more time the rows A et B, then knit 3 stockinette rows, increasing in the beginning and the end of

right AND wrong side : k1 (or p1) -yo- knit all stiches —yo-k1 (or p1)

Repeat rows A and B + the 3 stockinette rows 4 more times , and don't forget you must have an odd number

stiches on your needles on each side of your stiches markers, in the beginning of each lace row
Bind off loosely — k1 — *k1- pass left hand needle in the 2 knitted stiches and k2tog *, repeat from * to the end.
Wet block your shawl! (essential!)

Thanks to Tricot'in bout d'ficelle for finding the name of my pattern ¥



